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BUGANDA EXAMINATIONS COUNCIL (BECO)
PRIMARY SEVEN MOCK EXAMINATIONS - 2025
MATHEMATICS

Time Allowed: 2 hours 3 minutes.
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READ THE FOLLOWING INSTRUCTIONS:-

FOR EXAMINERS’ USE

1. The paper has two Sections A and B. ONLY
2 Scction A has 20 questions (40 marks)
3. Section B has 12 questions (60 marks) Number | Marks [ Sign
4. Attempt All questions. All answers to both sections A T ; ii ——
and B must be written in the spaces provided.
5. All answers must be written using a blue or black ball- [ 1120 I
point pen or ink. Diagrams should be drawn in pencil.
6. Unnecessary changes of work may lead to loss of 21-30
marks. 3132 =]
-l Any handwriting that cannot be eastly read may lead
to loss of marks ‘  TOTAL ‘
8. Do not fill anything in the boxes indicated for t — — L

examiner’s use only.
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SECTION A (40 MARKS)

L Work out 81 -~ 3

2. Write twenty thousand two hundred two in figures

3. GiventhatR=2,3,5,7 andKNR(2,3). Findn (K)ifK only={0}

4. Work out 12 _ =

5. Simplify2*—(r~2)

6. A debate lasted for 1}

hours and ended at 2. 10p.m. At what time did the debate start?

23
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7.

In i
the space below draw an angle of 110° using n pratractor, a pencil and a mler.

8. A picce of cloth measures 2.75 metres, How meny pieces of cloth of length 0.5

centimeters can be cut from the cioth?
9, Solve: y+2 =1 (finite 7)

' : ot - il
§ ~ oui _Find the total age of the pups
; . age of 7 pupils 13 years
€10,  Themean age
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il <} ® £X
i ctors of 72={ 21. 22 ?-3=3’=X}' Finil e VA=
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2. Round.aff 3.799 ta one place of decimal

13, i =
3. Giventhath =1 gnd g = 3, find the value of g + &

14, Wark out the perimeter of the figure below:- (1: = %

1

e
L4cm

15.  Given that the exchanpe note is 1 Ksh. = Ugshs.35, find the cost of a radio which in
Renya shillings which casts 827950 Uganda shillings.

1G. ~--Find fhegomplementnf.29°,
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7. Express 103 Jitres a8 cubic centimeters

i8. Worknutlomh-llm

19.  Solvet-32 -2

Decrease 40 eggs by 40%
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SECTION B (60 MARKS)

(02marks}

id 7
21(s) Find the number whose scientific notation is 1.75 % 10°

()  Solve 2%P x 27 = 64. (02marks)

22, Inafamily, 4% members eat fish (F), 8 members cat hoth Chicken (C) and Figh, 13 |
members eat chicken only while x — 3 do nat eat any of the two.

(a) Use the above information 1o comiplete the Venn diapram below. (02marks)

)

n(F) =4

X-3

mber of members in the

(v Given that 14 members da not eat chicken, find the intal nu
(03marks)

liome.
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23(a) Change 17,0, 10 the binary system.

(02marks)
(b)  Find the value of m : m + 1 Tewe = 101 1wn. (02marks)
24.  The interior angle of a regular polygon is five times its exterior angle.
(2) Calenlate the number of sides of the palygon. (03marks)
. i (02marks)
()  Warkout hie interior angle sum of the polygon
¢ 7
LN =
{ ' anchs 205 =




25.

(2)

(b)

Mwanje rid
of G3cm, hc: iim from his hame ta school. The wheel 0
oy "Ym“'“ﬁﬂns‘iﬂﬁﬂﬂwhmlmakcmmwmgdm
(us — ."E) jstance
7 (05marks)
A gin) went to shap rtﬂ'ﬂsasshnwﬂmlhcmblm
Complete the table Below. (04marks)
Meat 3% Shs ner k Shs. 37,500
| o — She. 4,000 WE- B
: ghs. 7 Shs, 1,900
E —

mimafﬂ



2. o
ra

B 3 farm of animais 100
bbits, I, a'8, 10% are goats, 250, are

cattle, 18% are sheep and thie rest are
ere 147 rahh; '
the farm? abbits on (e farm, how

many more cattle than poats are there on
(05marks)

'1 28(a) Using a pair of compasses, a pencil and a ruler, construct a (fiangle FEL wlhere

EF = 6.5cm, angle EFL = 45° and angle LEF = 60°. (05marks)
{
1
b |
I""l(b} Drap a perpendicular from L io meel EF at €. (ﬂ]mark}
\
{
‘ [
9
| 9
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29, Thetable below shows the arrival and departure time for a 1axi from Kampala ta Jinja

Tovwmn Arrival time Drparture
Kampala £.15a.m
Banda .30 a.m RAS am
Mukano 9:§5 a.m i0:05a.m
L_n_gam 10:40 a.m 10: 05 a.m
linja 11:30 a.m
(a) At what time in the 24 hiour clock, doces the taxi leave Mukonn? (NImark)

() i the distance between Kampala and Jinja is 72km, find the taxi’s average speed from
Rampala and Jinja. (03marks)

ad
|

30.  Thetank below is % full of water. How many litres does it contain when it iz half way

full. (1: = -27—2) _ (05marks)
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a1, o
The trave] graph below shows a cyclist's journey from town P through tawn Q o town R.

R 24 \

/1
\
L |

6:00am 7:00am 8:00am 9:00am 10:00am 11:00am  12:00noon

&

Distance KM

Po

@) - How far is Q from R? ' (02marks)

@  Calculate the average speed of the cyclist for the whole journey. (03marks)

{ ) Atwha time did the cyelist rest for the first time? - _ (01mark)
£)  Atwhat
' 11 11
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m?-marka)
3Ya) Solve the inequalityx—5 < —2

(b)  Snlvethe equation; %F +3=p—-1 (03marks)
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